

<b>02 :</b>	<b>:</b>	<b>3 :</b>
-------------	----------	------------

	مجزأة		
<b>06</b>		$\cdot u_n \leq 1 : n$ (1)	
	<b>01.5</b>	$u_0 = 0 \leq 1 \quad n = 0$	
		$\cdot u_n \leq 1 \quad n \in \mathbb{N} \quad u_{n+1} \leq 1 \quad \frac{2}{3}u_n + \frac{1}{3} \leq 1 \quad \frac{2}{3}u_n \leq \frac{2}{3} \quad u_n \leq 1$	
	<b>01</b>	$f(x) = \frac{2}{3}x + \frac{1}{3} \quad f : (u_n)$ (	
		$\cdot (u_n) \quad u_1 = \frac{1}{3} > u_0 \quad \cdot (u_n)$	
		$\cdot v_n = u_n - 1$ (2)	
	<b>01.5</b>	$v_{n+1} = u_{n+1} - 1 = \frac{2}{3}u_n - \frac{2}{3} = \frac{2}{3}v_n$ (	
		$\cdot v_0 = -1 \quad q = \frac{2}{3} \quad (v_n)$	
	<b>0.75</b>	$v_n = -\left(\frac{2}{3}\right)^n : n \quad v_n$ (	
	<b>0.75</b>	$\cdot u_n = v_n + 1 = -\left(\frac{2}{3}\right)^n + 1 : n \quad u_n$	
	<b>0.5</b>	$\cdot (u_n) \quad \lim_{n \rightarrow +\infty} u_n = \lim_{n \rightarrow +\infty} -\left(\frac{2}{3}\right)^n + 1 = 1$ (	
<b>06</b>		$:$ (1)	
	<b>01.5</b>		

08

01.5  $P(U_3 \cap B) = \frac{1}{3} \times \frac{5}{6} = \frac{5}{18} : U_3$  (2)

01.5  $\cdot P(B) = \frac{1}{3} \times \left( \frac{1}{3} + \frac{1}{2} + \frac{5}{6} \right) = \frac{5}{9} :$  (3)

01.5  $\cdot P_B(U_3) = \frac{P(U_3 \cap B)}{P(B)} = \frac{\frac{5}{18}}{\frac{5}{9}} = \frac{1}{2}$  (4)

07.5  $f(x) = e^{x-3} - \frac{1}{x+4}$

07.5  $\cdot f'(x) = e^{x-3} + \frac{1}{(x+4)^2}$  (1)

07.5  $\cdot [0; +\infty[ \quad f \quad f'(x) > 0$  (

$\cdot \lim_{x \rightarrow +\infty} f(x) = +\infty$  (

01  $: f$  (

$x$	0	$+\infty$
$f'(x)$		+
$f(x)$	-0,2	$+\infty$

01  $[1,32; 1,33] \quad f$  (2)

$f(0,33) = 0,001 > 0 \quad f(1,32) = -0,002 < 0$

01  $\cdot 1,32 < \alpha < 1,33 \quad \alpha \quad f(x) = 0$

$[0; +\infty[ \quad f(x)$  (

$x$	0	$\alpha$	$+\infty$
$f(x)$	-	0	+

07.5  $g(x) = e^{x-3} - \ln(x+4)$  (3)

01  $\cdot g(x) = e^{x-3} - \frac{1}{x+4} = f(x)$  (

$[0; \alpha] \quad g : [0; +\infty[ \quad g$  (

$[\alpha; +\infty[$

01  $\cdot I = \int_0^3 f(x) dx = g(3) - g(0) = 1 - \ln 7 - e^{-3} + \ln 4 = 1 + \ln \frac{4}{7} - e^{-3}$  (